O FHtE5 (2 6 &)

=n 1cm 50cm 1m = B o 4 = o e L

B EE | BEAE [ BE | BAE | BIE | BAE | SABRESH | K12

FREHFHILES 0.05 0.06 0.05 0.06 0.05 0.06[dbEE A th 5
W F LS 0.08 0.08 0.08 0.08 0.08 0.08|&TRE—1E 5
[ BT {515 0.05 0.06 0.05 0.06 0.05 0.06[dbEE A th 5
E—EHFHILE 0.10 0.19 0.10 0.18 0.10 0. 17|71l 5
ERER LS 0. 05 0.05 0.05 0.05 0.05 0.05|&TCRE—{E 3
e FHLIE 0.06 0.09 0.06 0.09 0.06 0.09(mEA 5
KB F{E 515 0.05 0.06 0.05 0.06 0.05 0.06|m R Ath 5
SRR E L5 0.04 0.06 0.05 0.06 0.05 0.06|dt =R FAth 5
R FHILS 0.06 0.06 0.06 0.06 0.06 0.06|=TE—1E 5
= NIMF LIS 0.04 0.07 0.06 0.07 0.05 0.07|dtEE At 5
MTDIEFHILS 0.07 0.07 0.07 0.07 0.07 0.07|&TRE—E 5
B BT E—F LIS 0.04 0.04 0.04 0.04 0.04 0.04|&TRE—E 5
EWNBE—FHILE 0. 06 0.13 0.06 0.12 0.05 0.07[RME T 5
A BT {515 0.06 0.10 0.06 0.10 0.06 0.10|FEFE A 5
%15 1T HFHRILES 0.05 0.06 0.05 0.06 0.05 0.06|dbEE FAth 5
B FHLIS 0.06 0.06 0.06 0.06 0.06 0.06|=TE—1E 2
b B L5 0.05 0.05 0.05 0.05 0.05 0.05|&TCRE—{E 5
EEHHTFHEILE 0.07 0.22 0.07 0.18 0.07 0.17[MME T 11
“HHE_FHILS 0.05 0.06 0.05 0.06 0.05 0.06|dc A {th 5
WEEF L5 0.04 0.05 0.04 0.05 0.04 0.05|dc A fth 5
TR AT F L[5 15 0.05 0.06 0.05 0.06 0.05 0.06|FAEE At 3
EER YN 0.06 0.07 0.06 0.06 0.06 0.06|FPe A 5
EHaI1=—T4L5 0.05 0.05 0.05 0.05 0.05 0.05|&TCRE—1& 5
WmEII 1 =T 4L 0.04 0.05 0.05 0.05 0.06 0. 06| FE{Al4th 2
TERaZIa1=F 455 0.05 0.09 0.05 0.09 0.05 0.07|dt B A 5
INRFHEIRS 0.04 0.05 0.04 0.05 0.04 0.05|dtEE At 5
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